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FIND-MAXIMUM-SUBARRAY (A, links, rechts)
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if rechts == links
return (links, rechts, A[links]) // Basisfall: nur ein Element
else mitte = | (links + rechts)/2|
@ (links-links, links-rechts, linke-summe) =
FIND-MAXIMUM-SUBARRAY (A4, links, mitte)
@ (rechts-links, rechts-rechts, rechte-summe) =
FIND-MAXIMUM-SUBARRAY (A, mitte + 1, rechts)
(mittig-links, mittig-rechts, mittige-summe) =
FIND-MAX-CROSSING-SUBARRAY (A, links, mitte, rechts)
if linke-summe > rechte-summe und linke-summe > mattige-summe
return (links-links, links-rechts, linke-summe)
elseif rechte-summe > linke-summe und rechte-summe > mittige-summe
return (rechts-links, rechts-rechts, rechte-summe)
else return (mittig-links, mittig-rechts, mittige-summe)

FIND-MAX-CROSSING-SUBARRAY( A, links, mitte, rechts)
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linke-summe = —o0
summe = 0
for ¢ = mitte downto [inks
summe = summe + Ali]
if summe > linke-summe
linke-summe = summe
max-links = 1
rechte-summe = —oo
summe = 0
for j = mitte + 1 to rechts
summe = summe + A[j]
if summe > rechte-summe
rechte-summe = summe
maz-rechts = j
return (maz-links, maz-rechts, linke-summe + rechte-summe)




